
UG/CBCS/B.Com./Programme/6th Sem./Commerce/COMPGE2/2023 

6171 1  Turn Over 

 
UNIVERSITY OF NORTH BENGAL 

B.Com. Programme 6th Semester Examination, 2023 

GE2-COMMERCE 

INDIAN ECONOMY 

Time Allotted: 2 Hours Full Marks: 60 

The figures in the margin indicate full marks. 

 GROUP-A / / भाग-क  

 Answer any two questions 

कुनै दईुवटा ÿĳका उ°र लेख 

12×2 = 24 

1.  (a) What are the primary objectives of Public Distribution System (PDS) in India? 6+6 
   

 भारतमा सावªजिनक िवतरण ÿणालीको (PDS) (Public Distribution System) ÿाथिमक उĥेÔय के हो ?  

(b) What are the flaws in Food Security System in India?  
   

 भारतमा खाīसरु±ा ÿणालीमा के ýिुटहł छन् ?  
  

2. Discuss the measures taken by the Govt. of India to protect and promote small 
scale industries. 

6+6 

   

 साना उīोगहłको संर±ण र ÿवĦªन गनª भारत सरकारले िलएका उपायहłबार ेछलफल गर ।  
   

3. Critically discuss the land reform measures taken by the Govt. of India. 12 
   

 भारत सरकारले िलएको भूिम सधुार उपायहłको आलोचना गनुªहोस् ।  
   

4.   What is privatization? How far is it justified in Indian Economy? 3+9 
   

 िनजीकरण (Privatization) के हो ? भारतीय अथªतÆýमा यो कि°को जायज छ ?  

   

 GROUP-B / / भाग-ख  

5. Answer any four questions: 

कुनै चारवटा ÿĳको उ°र लेख: 

6×4 = 24 

(a) What are the causes of inflation in India? 6 
   

 भारतमा मþुाÖफìितको (inflation) कारण के हो ?  
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(b) Explain the need of foreign capital in India. 6 
   

 भारतमा िवदेशी पुजँीको आवÔयकता Óया´या गर ।  

(c) What are three advantages and three disadvantages of Multi National Company? 6 
   

 बहòरािÕůय कÌपनीका (Multi National Company) तीन फाइदा र तीन बेफाइदा के के हòन् ?  

(d) What are the factors responsible for mounting crisis in Balance of Payment 
(BOP) of India in recent years?  

6 

 Balance of Payment   

 हालैका वषªहłमा भारतको भĉुानी सÆतुलनमा बढ्दो संकटका लािग िजÌमेवार कारणहł के हòन् ।  

(e) Discuss any two structural weakness of Indian economy. 6 
   

 भारतीय अथªतÆýका कुनै दईु संरचनाÂमक कमजोरीहłको (structural weakness) चचाª गर ।   

(f) What are the objectives of National Population Policy 2000?  6 
 2000   

 रािÕůय जनसङ्´या नीित 2000 का उĥेÔयहł के हòन् ?  

   

 GROUP-C / / भाग-ग  

6. Answer any four questions: 

कुनै चारवटा ÿĳका उ°र लेख: 

3×4 = 12 

(a) Mention three objectives of Niti Ayog. 3 
   

 नीित आयोगका तीन उĥेÔयहł उÐलेख गर ।  

(b) Mention sectoral composition of National Income of India. 3 
   

 भारतको रािÕůय आयको ±ेýीय सरंचना (Sectoral composition of National Income) उÐलेख गर ।  

(c) How far Indian economy has become self reliant? 3 
   

 भारतीय अथªतÆý कित आÂमिनभªर भएको छ ?  

(d) Mention three weaknesses of Public sector. 3 
   

 Public sector का तीन कमजोरीहł उÐलेख गर ।  

(e) Mention favourable effects of globalization. 3 
   

 Globalization का अनकूुल ÿभावहł उÐलेख गर ।  

(f) Explain two features of planning in mixed economy like India. 3 
   

 भारत जÖतो िमि®त अथªतÆýमा (Mixed economy) योजनाका दईु िवशेषताहł Óया´या गनुªहोस् ।  

 ——×——  
 


